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QUESTION 1

Click the Exhibit button.

CREATE FUNCTION emp_hirthdays (month INTEGER)
RETURNS TAELE (I _name “YARCHAR(15],
f_name Y“YARCHAR{1Z],
month  “YARCHAR(20),
day INTEGER)
LANGUAGE SCIL
READS SCIL DATA,
MO EXTERMAL ACTION
RETUEN
SELECT lastname, firstnme, MONTHNAME( birthdate),
DAY (hirthdate)
FROM employee
WHERE MONTH(employee birthdate) =
emp hirthdays.month

A user-defined function was created using the statement shown in the exhibit.

Which additional option can be added to the CREATE FUNCTION statement to tell the optimizer that the function
doesnot always return the same results for a given argument value?

A. NO EXTERNAL ACTION
B. NOT FENCED

C. NOT DETERMINISTIC
D. STATIC DISPATCH

Correct Answer: C

QUESTION 2

Given the following statement: How many values are inserted in to the array called quantity?
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CREATE TYPE intarray Az INTEGER ARRAY [3]

CREATE PROCEDURE foo (IN guantity INTARRAY)

BEGIN

DECLARE | INTEGER

SETi=2,

WHILE (i <= 5) DO
INSERT INTO LIST (guantity) VALUES {guantity (i));
SETi=i+1;

END WHILE;

END

Al
B.2
C.3
D.4

Correct Answer: D

QUESTION 3

A developer needs to create a user-defined functionthat will return a list of employees who work in a particular
department. Which statement will successfully create a function that meets this objective?

A. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE LANGUAGE SQL READS SQL DATA
RETURN SELECT empno, lastname AS |_name, firstnme AS f_name FROM employee WHERE employee.workdept =
dept_employees.deptno

B. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE DYNAMIC RESULT SETS 1
LANGUAGE SQL READS SQL DATA DECLARE emp_info CURSOR WITHRETURN FOR SELECT empno, lastname
AS |_name, firstnme AS f_name FROM employee WHERE employee.workdept = dept_employees.deptno OPEN
emp_info; RETURN

C. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE (empno CHAR(6), |_name
VARCHAR(15), f_name VARCHAR(12)) LANGUAGE SQL READS SQL DATA RETURN SELECT empno, lastname AS
|_name, firstnme AS f_name FROM employee WHERE employee.workdept = dept_employees.deptno

D. CREATE FUNCTION dept_employees (deptno CHAR(3)) RETURNS TABLE (empno CHAR(6),
|_nameVARCHAR(15), f_name VARCHAR(12)) DYNAMIC RESULT SETS 1 LANGUAGE SQL READS SQL DATA
DECLARE emp_info CURSOR WITH RETURN FOR SELECT empno, lastname AS |_name, firstnme AS f_name
FROM employee WHERE employee.workdept = dept_employees.deptno OPEN emp_info; RETURN

Correct Answer: C
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QUESTION 4

Given the two SQL procedures shown below:

CREATE PROCEDURE s2(IM p1 INT, QUT p2 INT)

BEGIN
SETp2=p1+73;
END
CREATE PROCEDURE s1(IM w1 INT, OUT %2 INT)
BEGIN
DECLARE w3 INT:
SET+3=%1+1;
CALL 52(v3 v2);
SET w2 = w2 + 2
END

What is the expected output if procedure S1 is invoked with the value 1lprovided for parameter V1?

A. NULL
B.2
C.5
D.7

Correct Answer: D

QUESTION 5

Which of the following statements is true?

A. A DATETIME value can be assigned to a DATE variable.

B. Values cannot beassigned to variables inside ERROR HANDLERS.

C. ATIMESTAMP value can be assigned to a TIME variable.

D. The result of a GET DIAGNOSTICS statement cannot be assigned to a variable.

Correct Answer: C
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